
MONTERINGSANVISNING
ASSEMBLY INSTRUCTIONS

MISHA SKÅP
Art. Nr 15360-201



2020

1

2
7

6

6

5

4
3

10

10

8
9

   X10
M5X12

X8X2

X4

A B C

D E F

G H

X2X2

X2

   X4
M4X22

I

X6
M4X30

               Assembly Instruction
（15360 Misha Low Cabinet Mesh Doors）

1 2

3 4

5 6

7 8

9 10

1pc 1pc

1pc 1pc

1pc1pc

2pcs1pc

1pc 2pcs

1 2

3 4

5 6

1
2

10

10

43

5

4pcs

6pcs
M5X12

4pcs
M5X12

2pcs

4pcs

x2

7 8

9 10

11 12

6
6
7

2pcs 2pcs

2pcs

8pcs

4pcs
M4X22

2pcs
8 9

x2


